School Name Camp Ernst Middle School Number 010
BUDGET SUMMARY
Revenue: Current State Allocation 16,286,57
Carry-over funds(becomes carry-over on July 1)
Total State Monies

Projected Cost for:	Categories
Textbooks On line Ketwork	4.342.20
Instructional Materials	6.949.66
Rebinding & Replacement	0,111.00
TOTAL EXPENDITURES	11,791.86

Projected carry-over funds

COVER PAGE

School Name Camp Ernst Middle
School Number District Number
Grades 6-8 Enrollment 1050
Adoption Cycle 20
Content Area(s) Month, ELA, Science
Soci Studies, Unified Arts
,
Names and titles of persons responsible for the development of the plan:
Rebecce Burton - Asst. Principal
Leisa Dicherson - Curriculum Coach
Scott King - Science Content Lead
Stephanie Harp - ELA Content lead
Katey Blood - Social Studies Content Leas
Luke Patterson - Math Content Lead
Brenda Noll- U.A Team lead

Purchasing Plan	Form 5
Date 10/19/17	
	010
STATEMENT OF ACCOUNTABILITY	
We, the undersigned, certify that this Textbook/Instructional Material Purc implements the Kentucky Academic Standards for the 2017 - 18 adoption	hasing Plan on cycle.
School Council Members' Signatures:	1
1.4.2.10 01.01	
Hottophenny Sunt The	the the second
Offices Rhe	
Con frant C	
Stephane Otteget 101 School Council Chair 101	Date
The cost of this plan is within the appropriation for this school.	
School Board Chair	Date
In the absence of a school council,Board of certifies that this Textbook/Instructional Material Purchasing Plan implementation of the Standards for the 20 adoption cycle. This plan is within the appropriation for this school.	

Date

Date

School Board Chair

School Board Secretary

ALS
AL
Cost
1
.20
,20
100
100
- -

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

School Name DETAILED : One con	PURCI mpleted f	HASE PLAN FOR Sorm for each vendor or the state of the st	INSTRUCT	TONAL M	ATERIALS
Item		*ISBN or	Unit Cost	Quantity	Total Cost
Guiding Ru of Writer	aders 15	Catalog Number 9780325003108		10	\$575.00
				-	
	•				
· .			-		
,					
			-	Subtotal	
		•	** Estima	ited Freight	
				Total Cost	575.00

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purcl	hasi	ng F	lan
Purcl Date_	10	17/	17

Vendor <u>OF</u>	fice Depot			rder
Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
TI -30 KITS Exas Instrument	176928	415,99	60	959,40
	·			
			Subtotal	959.40

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchas	sing Plan	
Date 9	15	

School Name Corpy DETAILED PURCI One completed f		NSTRUCI	TIONAL M	ATERIALS
Vendor The	Roading War	chaust	2	·
Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
Timebound	14 178 48 150	10.03	30	300 60
Chains: Sceas	14/69 05863	6.02	30	180.60
Witch Child	6866 PUBO FO		30	180.60
	•			
	J	** Estima	Subtotal ated Freight Total Cost	60.80 18.012

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchas Date A	ing Plan
Date	115

	CHASE PLAN FO	R INSTRU			LS
-	ading Ware		•	order	
Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost	
ne watsons go to Birming ham		45.11	30/05	536.55	-153, i
To Massauel	9780544107717	11.38	783ch	536.55 796.6	0 341=
		=			
pp.			Subtotal	1333.75	494.7
					-

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchasing Plan Date 9/15/17			SAMPLE	FORM Form 3
School Name <u>Cam</u>	p Ernst	School Nun	nber <u>Ø <i>[</i></u>	<u>D</u>
	RCHASE PLAN FC ted form for each vendor			
Vendor Scho	lastic . Com			
Item	*ISBN or	Unit Cost	Quantity	Total Cost
Upront Maga	Catalog Number	9.49	30	284.70
1				
				2
	-		Subtotal	284.70

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

1412/100g

Purchasing Plan Date 9-15-17		· · · · · · · · · · · · · · · · · · ·	SAMPLI	E FORM Form 3
School Name	ozrast M.S.	School Nu	mber	•
DETAILED PURCE	I IASE PLAN FOR I	NSTRUCT	IONAL MA	ATEDIATO
One completed for	orm for each vendor or i	se a copy of th	e purchase or	der ,
Vendor		g Ware		
**************************************		, , , , , , , , , , , , , , , , , , ,		
Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
Hitler Youth: Growing upin	0 4 39 35 379 9 7 80439 35 37	3/ 14.7	30	44199
Hitlers Shadow	9 / 804393537	93		
,				
		·		
·				
		** Estima	Subtotal ted Freight	441.99
			Total Cost	

^{*} Note on ISBN - All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchasin	g Plan
Purchasin Date 9 -	T5-17

School Name (AM)	Ernst Middle	_ School Nur	nber <u>Ol</u>	<u>o</u>
DETAILED PUR One complete	CHASE PLAN FO	R INSTRU	CTIONAL of the purchas	MATERIALS se order
Vendor Je k	leading War	ehouse	<u> </u>	
po bo	x 41328			
North	Charleston, 50	2-2942	3	
Item	*ISBN or	Unit Cost	Quantity	Total Cost
As Comproses vilen	a: 1101993839/ pt 978110199 3 835	6.69	30	200.70
			Subtotal	200.70
				200.70 8.95
				209.65

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

School Name Comp First Widdle School Number						
DETAI	LED PUR	CHASE PLAN FO	R INSTRU	CTIONAL	MATERIAI e order	LS
Vendor						
	POB	0175 XC				
	Tetter	son citu, Mo	65/00	- 973 3		
Ite	m	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost	
Science	Morld	040	9.49	32	303.68	
				Subtotal	303.68	
					30.67 334.05	,

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purcha	sing Plan	
Date_	7-15-1	1

School Name	Camp Frost Middle School Number 610
DETAILEI One o	PURCHASE PLAN FOR INSTRUCTIONAL MATERIALS completed form for each vendor or use a copy of the purchase order
Vendor	The Reading Warehouse
	North Charleston SC 29423

Item	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
he city of Ember Reissue Edition	037 <i>582274</i> 7/ 9780375 <i>822</i> 742	4 5.35	35	B 187.25
The city of Ember	000a4543563396	s 4.95	1	\$ 4.95
Among the Hidden First Edition	0689 <i>8 2475</i> 0/ 978 068 982 4753	e 5.35	35	\$187.25
		÷		

Subtotal \$379.45*

** Estimated Freight \$8.95

Total Cost \$388.40

^{*} Note on ISBN - All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchasing	Plan
Purchasing Date 9/95	111

Item	*ISBN or	Unit Cost	Quantity	Total Cost
Po Alor	The Charleston,	SC 294	23	
Vendor IN	Reading War	chouse		,
	CHASE PLAN FOR d form for each vendor o			•
School Name Can	up Ernst M.	School Nu	mber <u>6</u>	<u>T</u>
Date_ <u>V[7.5 [(;) </u>				roim 3

Item	*ISBN or	Unit Cost	Quantity	Total Cost
Consultain a Gara Wood	Catalog Number	1000		0 - 0
Everything you need to see ELA	9780761160915	10.02	35	350.70
in One Big Fat Notebook	1.00 101.10-113			
Notebook				
		,		

Subtotal 350.70

** Estimated Freight 8.95

Total Cost 3<9.105

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

	sing Plan
Date_C	1-25-17

Total Cost

DETAILED :	PURCE	IASE PLAN FOR I	NSTRUCT	TONAL M	ATERIAL
Vendor	Hune IKEA	Science Tuels			
Item		*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
Home Science 1 USULU POWERS		KT-SGLR POW	28.95	14	F405 70
Digital Multi		EL-OS GMULT	12 9)	1.4	181
light could		441de ** 902 637.18	9 0	14	514000
Nectural Ind		674439	\$ 12 50	6	5 75 od
75A/Blackligh		53920 VPC letter 0459 230 3720	\$7 ³⁵	6	F44.]
			** Estim	Subtotal ated Freight	845,70

^{*} Note on ISBN - All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Weart

Purchasing Pl Date (125/1	an 1	• • • •			E FORM Form 3	
School Name	Cam	PECNSTMS	School Nu	ımber <u>0</u> 1	0	
DETAILED One co	PURCE purpleted for	IASE PLAN FOR I orm for each vendor or t	INSTRUCT	IONAL M.	ATERIALS	
Vendor	Ran	d McNall	y Stor	<u>e</u>		
Item		*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost	
Goodes W	lorld Edition	013386464	399	30	11985	ۮ
(Paper vic)				•	_	
_						
-						
	• .	·				
			** Estima	Subtotal ated Freight	1198.50	
				Total Cost	1198,58	

Purchasing Plan

^{*} Note on ISBN - All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.

Purchasing Plan
Date 9/25/17

School Name CONSTRUCTIONAL MATERIALS
One completed form for each vendor or use a copy of the purchase order

Vendor

SAMPLE FORM
Form 3

School Number 0/0

Form 3

Item '	*ISBN or Catalog Number	Unit Cost	Quantity	Total Cost
Easy Debates	3K07081	L 104	195 1	104.99
For the Social				
Classrom				
Books Ser		•		
of 5				
buts			,	
		Alla de Terre de	Subtotal	104.95
		** Estima	,	

Total Cost

^{*} Note on ISBN – All items listed on the State Multiple List have an ISBN that should be used when placing orders. For supplementary items, a catalog number is appropriate.

^{**} State bid prices do not include shipping costs. A good estimate of freight is 10%.